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U
(& (i) Explain whatis meant by the term ‘social cost’. >

.............................................................................................................................. [2]
(ii) ldentify one example of a private cost arising from smoking.
Explain why this is a private cost.
.............................................................................................................................. [3]
(b) (i) Identify one example of a negative externality arising from smoking.
Explain why this is a negative externality.
.............................................................................................................................. [3]
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(i) Using a diagram, explain why negative externalities give rise to the problem of ¥

market failure.
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(c) “Governments around the world accept that cigarettes are a demerit good” (line 1). >

(i) Explain what is meant by the term ‘demerit good'.

(i) Using an example, explain how the provision of greater information can correct the
market failure arising from demerit goods.
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(d) Regulation and minimum price controls are possible solutions to the market failure

arising from negative externalities.

(i) State and explain two advantages of using regulation to correct market failure.

(i) Comment on the effectiveness of introducing a minimum price control as a solution
to the negative externalities resulting from smoking.
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*(e) Another solution to negative externalities is that of taxation. Discuss the effectiveness of ¥

taxation in correcting the market failure arising from negative externalities.
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If you use the following lined pages or additional sheets to complete an answer to any question, ¥

the question number must be clearly shown.
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